ZEHRB L VEHHICOLTO

ORIEEDRETHEE

1. BAESOSEHE, ASFRFOS%E 20,000 HIZ k> T TV D,
2. T, BEE) 6T 4D XN ARIND,

3. BfE, 281X 9004 ThHD,

4. ZH (BRE)
(1) 2EHBEFET 2R E1X. 1 AH7=Y 700 M,/ THEMK 600,000 FHTH 5,

IER AR —> 85 M /&5, WL 80 M, HEAZOM 10 [, 4 4 [AIFEE
(2) S EBITIRAE LW T, 4/ 700,000 HT, 1 AdH7=0 700 HTH D,
(UIXAKT 1,300,000 ,74) — (&BEITKAFT 5 HM##E 600,000 1) =700,000 M
Atk DEE%% 1,000 A& LT, 700,000 F-+1,000 A=700 4,/ A
(3) 1 AdH7=v DAFEM#EEIT, 1,400 HTH 5,
(ERE()1 Ad7=v ofkE 700 1) + (EFE@)1 AH7=Y Of2E 700 ) =1,400 [
5. AEFFOEE 20,000 HOTEAFEKIL, 14.3FThH D,
(£% 20,000 M) + (1 AH7=Y OFERMFRE 1,400 ) =14.3 4F
6. Lo T, M1 ETREBIULFT HRENEA T, KFHIHET 5,

ORIEREE (HEXR) NDEE

BAES ASREO S 20,000 X2 O F FMERF L, ARtk 15 4800 U722 BfE ~
N2 51838 (ERAR— YRR, BtE - #ER%E) L7240 700 Mo 10 F/5y
7,000 HZ=0EEHRE L LT LTMATLIZLET D, Z2D®KIT, 10 FTEDH

HLd o,



